MAT 0024 Part 3 Review 2

1. Simplify: (x3—5x+6)+(3x2—x—6) 7. Simplify: 3x2(4x2—2x+7)
a) x*+3x*—6x a) 12x*+6x’+21x’
b) x*-3x*-6x+12 b) 12x* —6x" +21x’
C) x’+3x*—6x+12 C) 12x"—6x"-21x
d) ¥ +3-6x-12 d) 12x*+6x" -21x’
2. Simplify: (3x" +4x-7)—(-x*+x-13) 8. Simplify: —2a’h(a” ~3ab+4’)
a) 3x’ — x>+ 5x—-20 a) —2a’b-6a’h’ +8a’h’
b) 3x’ +x>—5x+6 b) —2a'b-6a’b+8a’h’
C) 3x’+x*+3x+6 C) -2a‘b+6a’h’ —8a’h’
d) 3x+x-3x-6 d) —2a'h’ +6a’h’* +8a’h
3. Simplify: (xyzz)(x2y3zz) 9. Simp”fy: (2y—1)(2y2+4y—3)
a) 1y a) 4y’ +10y* +10y+3
b) x*)°z b) 4y°-10y°-10y-3
c) x*y'z C) 4y°+6y°-10y+3
d) x*y'2? d) 4y°-6y*+10y+3
4. Slmpllfy (3a2b2)(—3a2b3) 10. Slmpllfy (3a—2)(2a2—4a+3)
a) 94’ a) 6a’-16a’*+17a-6
b) —9a’* b) 64’ +16a* +17a-6
c) —-94°b’ C) 6a’—8a’+a-6
d) 94°»* d) 64’ +8a°+17a+6
5. Simplify: (2x2y3)2 11. Simplify: (3x-5y)(3x+2y)
46 a) 9x’+9xy—10y’
a) 4x'y , ,
b) 4x)’ b) 9x>—9xy+10y
4 s C) 9x*—9xy—10y°
¢) 'y d) 9x*+10xy—10y°
d) 4x°y° X xy—10y

12. Simplify: (5x+2y)(6x+y)

6. Simplify: (-34°») 2) 30574175y 42y

51,7
a) 27a 195 b) 30x* +17xy -2y
c) 274%" C) 30x—17xy—2y

d) —274°" d) 30x*+17xy+y’



13. Simplify: (2x-1)(2x+1)

a) 4x*+1
b) 4x*-1
C) 4x*—4x+1
d) 4x"—4x-1

14. Simplify: (3-5y)°

a) 9+30y+25y°
b) 9-25y°

C) 9+30y-25)°
d) 9-30y+25y°

15. Simplify: 2
9y

a) 9y
b) »
c) -y
d) 9y
. e 20x°)°
16. Simplify: 2007
v
a) 27
Y
b) 5
v
C) 2z
d) 2
z
17. Simplify:

8a’b—10ab +12ab*

a) 4ab-5+6b°
b) 4a-5+6b
C) 4a’-5b+6b
d) 4a+5p-6b

2ab

18.

19.

20.

21.

22.

23.

24.

25.

26:

Simplify: —16x” +12x* —8x
—4x

a) 4x>—3x+2

b) 4x*+3x+2

C) 4x*+3x-2

d) —4x*-3x+2

Simplify: (x4y’3)2
a) Kty

)t

b) =5
y
Y
) %
) x6 6
Simplify: (—?vc_zy3
a) 12x’y
b) —12x°y
C) —-12x°
d) 12x°
. e —3x5y_5
Simplify: ————
2x7y

Simplify: [ﬁj
Yy

4_ -2

Simplify: (2: J
x

Simplify: (2x°)'(

j

-3x° y)2

Write in Scientific Notation:

a) 642,000

b) 0.000721

Convert to Decimal Notation:

a) 3.24x10°

b) 1.25x10™



Answers
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25a.
25Db.
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8y°
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